QUESTION BANK

CLASS 12™

POLITICAL SCIENCE
UNIT-8

ASSERTION REASON QUESTIONS

Instructions:

Select the correct option for each Assertion-Reason question.

(A) Both assertion and reason are correct, and the reason is the correct explanation of assertion.
(B) Both assertion and reason are correct, but the reason does not explain the assertion.

(C) Assertion is correct, but the reason is incorrect.

(D) Assertion is incorrect, but the reason is correct.

e -

Jcdeh HUT-HRUT(Assertion-Reason) 92T & foIT TEr [Ahed &7 TIT |

(A) YA 3T FHROT AT FEY §, 3R FROT TR I FET <ATEAT HIT B
(B) T 3R FHRUT Sl Tl g, olfched HRUT HIRHUT I ATEAT AgT HLAT
(C) YT T &, fereT ROT e &1
(D) U el g, oifhel FROT TeT T

QUESTIONS-

Ql.

Q2.

Q3.

Assertion (A): AGITST HRA & THA dlehd T I TATYLAT, 3T A 3R IsdT
Tehdl el HET gelfaar 2|

Reason (R): AIRT # TTAAAT Ut & T#Y Hig i@ afgura agr am)

Assertion (A): The newly independent India faced three major challenges — establishing

democracy, economic development, and national unity.
Reason (R): At the time of independence, India did not have a written constitution.

Assertion (A): R & ToIT SlehdiTIeh AT TTEAT TAT IWAT Teh F3T Gailell AT
Reason (R): fofeer amae & el 9IRA & shao 3 Qe W eaer far @ an)

Assertion (A): Maintaining a democratic system of governance was a major challenge for
India.

Reason (R): During British rule, the focus in India was only on economic development.

Assertion (A): TqHTSTeT & HROT oM@l A9l &l faeaa gl gsT|
Reason (R): HRA 3R UIfhedial o SIAEEAT & AGHA-UelT $r 3igarie fifd 3918
T
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Q4.

Q5.

Q6.

Q7.

Q8.

Q.

Assertion (A): Millions of people were displaced due to partition.
Reason (R): India and Pakistan formally adopted a population exchange policy.

Assertion (A): [ITTSIT & HROT VTS &I H5F 35|
Reason (R): [9feer TR o fAHST & el & 6T TET Fea 30 I

Assertion (A): Communal riots broke out as a result of partition.
Reason (R): The British government took strict measures to prevent partition.

Assertion (A): 9oTTe 3R 9Tl e 3106 Qe & gsfad guv I
Reason (R): g1 aloll &1 & féq 3N HTECIH TEIET Samstar TATT 2|

Assertion (A): Punjab and Bengal were the most affected by partition.
Reason (R): Both these regions had nearly equal Hindu and Muslim populations.

Assertion (A): #IRd EIHR o IRUMAAT & YA & AT g9 A0 q=15|
Reason (R): TR o Urferedsl & et varfaal o 9Ra & s@= &1 favty fomm)

Assertion (A): The Indian government made extensive plans for refugee rehabilitation.
Reason (R): The government decided to settle all migrants from Pakistan in India.

Assertion (A): IRA FI TqATAT & AT 500 T 378 Rarad of|
Reason (R): 3T T3 RImadr o Tazwor & RO 9 # o &I Tder & o)

Assertion (A): At the time of India's independence, there were more than 500 princely states.
Reason (R): All these princely states willingly agreed to merge with the Indian Union.

Assertion (A): TGN Teel o RATAAT & THARIOT 7 HgcaquT A eS|
Reason (R): 3ogis1 RIATEAT I TG & AT Fa & v ‘depreiet faeg o=
(Instrument of Accession) ST 39JTIT fehaT|

Assertion (A): Sardar Patel played a crucial role in the integration of princely states.
Reason (R): He used the ‘Instrument of Accession’ to merge princely states into the Union.

Assertion (A): §eT6TG ToT o URA & AeT ¥ §AhR & fear |
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Reason (R): g&X61G o [ Teh Tadd TUSE & & H @ell dlgd o

Assertion (A): The Hyderabad state refused to merge with India.
Reason (R): The Nizam of Hyderabad wanted to remain an independent nation.

Q10.
Assertion (A): 9IRAT JeAT o 3T Tl & ded eedIdle &l AR Y H A

fora|
Reason (R): {1 urfehediel & @y fAeRy TR & f@em® Jeor 1 agorm &
oY

Assertion (A): The Indian army merged Hyderabad into the Indian Union under ‘Operation
Polo’.
Reason (R): The Nizam had declared war against India in alliance with Pakistan.

Ql1.
Assertion (A): AOTYY Y SIeTcll 319a1 TeT I Tl 3HEcled TATC IG=AT BT |

Reason (R): AOIYY & HERIST & #RAT TG & 97 fohely ot & anffier gl X
AT Siars AT

Assertion (A): The people of Manipur wanted to maintain their state's independent existence.
Reason (R): The Maharaja of Manipur agreed to merge with the Indian Union unconditionally.

Q12.
Assertion (A): IR Tl T YeTaTaaT 9IS TUR TR fham arm|
Reason (R): 1953 & 31T¥T ST Ugell T AT, W HINIS 3TUR W I1TSd fohar arm|

Assertion (A): Indian states were reorganized on a linguistic basis.
Reason (R): In 1953, Andhra Pradesh was the first state formed on a linguistic basis.

Q13.
Assertion (A): SIS T YT & YR T eaifdd fohar aram |

Reason (R): GoTrelr 3R &S #8137 & 37erer et & fow 1966 & gRATOM Fr 185
g3|

Assertion (A): Punjab was reorganized on a linguistic basis.
Reason (R): Haryana was created in 1966 to separate Punjabi and Hindi-speaking regions.

Ql4.
Assertion (A): ATITS Pl 1963 H Teh 3ol Ao & &I H FoA1AT 37|
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Reason (R): ATMAS I HAT AEHicieh R siaNfees Feetal & HRUT el T &I
gl fear amm|

Assertion (A): Nagaland was created as a separate state in 1963.
Reason (R): Nagaland was given statehood due to its cultural and geographical uniqueness.

Ql15.
Assertion (A): Ted YeAdTeel 3ANT 1953 7 TR foham I |

Reason (R): 38 37T T 3T AsAl AT 3k AP & IUR W YeTNTSd Hielm
7|

Assertion (A): The State Reorganization Commission was established in 1953.
Reason (R): The purpose of this commission was to reorganize states based on economic
development.

ggladbediT g9 (Multiple-choice Questions) (01 Mark)

1. TEAT AR & A el 7 Geiliordr a4 i
What were the three major challenges faced by independent India?
A. TSET TehdT, dAlehdd I TATYAT, 3TIF AT (National unity, establishment of
democracy, economic development)
B. ﬁmﬂw , ECI:'"I:ET JuR, T TATAR (Industrialization, agricultural reforms, military
expansion)

C. HHATSAI, HIFIdIC, H‘;\ﬂ(\ldlq (Socialism, Communism, Capitalism)

D. ARSI Iaate, Hog AedR, frew =Afa (International alliances, military expansion,

education policy)

2. fwfaf@a # @ @l [@uree & gq@ aRomAt § @ T g an
Which of the following was NOT a major consequence of Partition?
A. STATEAT T AT f9EATIeT (Mass displacement of population)

B. OFYeIideh AT (Communal violence)
C. 3% fara & dsi (Rapid economic growth)
D. §Y9Td T STediehiT (Confiscation of property)
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3. RO WHR o RIAAAT & THE0T i FATIT A F& gol fham

How did the Indian government address the problem of princely state integration?
A. STTHT TIE (Referendum)

B. #=g ILars, ardr 3R gt (Military action, negotiations, and agreement)
C. 9cgaT geAtd (Direct elections)
D. facelr afFaar i Te—ar (Assistance from foreign powers)

4. HEXSTE T R H Thro0T ohel AT SIRT §3T AT
Which operation led to Hyderabad’s integration into India?
A. 3TIRTT §¢] ¥CR (Operation Blue Star)

B. 3T 9rell (Operation Polo)
C. 3R TSI (Operation Vijay)
D. 3R HSEEIH (Operation Sandstorm)

5. 1953 F 3MY U &1 oA g YR W fhar arar am
On what basis was Andhra Pradesh formed in 1953?
A. &5 (Religion)

B. &TYT (Language)
C. Sifd (Caste)
D. &A1FdT (Regionalism)

6. femmstet & aNIeT wiferedret Set arer fiq 3R fa@l &1 fove wR & aaeanstt &

HTHGAT heAT YST?

What kind of challenges did Hindus and Sikhs face while migrating to India during Partition?

A. Fufa 3R TSR &7 &1 (Loss of property and jobs)

B. veIfie 8T (Communal violence)

C. 3reYrft Rt fAfaRt & Sfaa (Life in temporary refugee camps)
D. 3WIad THT (All of the above)

7. 9Rd H TAT & gdd(md $r RAwiRer fha 3maer & & oA

Which commission recommended the reorganization of states in India?
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A. JgE 3T (Nehru Commission)

B. 2§ 3TANT (Shah Commission)

C. g Ela?l'ﬂ_o'?l' 31T (States Reorganisation Commission)

D. m—m 3T (Montagu-Chelmsford Commission)

8. Tohg ay¥ TSl & Yedlos HfATwH 1 o) fhar arr am

In which year was the States Reorganisation Act implemented?
A. 1947
B. 1950
C. 1956
D. 1962

9. HRA HT TaATAT & FAY, Tl fohcdelr R A
How many princely states existed at the time of India’s independence?
A. 200
B. 462
C. 565
D. 750

10.%%%%@%%%&%:&@1@?

Which two provinces witnessed the most violence during Partition?
A. §9TTel 3R 9o« (Bengal and Punjab)

B. [eRTd 3R TSEUT (Gujarat and Rajasthan)
C. [98R 3k 3aX 9¢er (Bihar and Uttar Pradesh)
D. 378# 3R 33947 (Assam and Odisha)

11. ¥R & 9UH ¢ AN o RAEAT & Thenior H led-dr {ffehr Fems?
What role did India's first Home Minister play in princely state integration?

A. el aIaml & ATEIH & AT fHAT (Solved only through negotiations)
B. &Rl T $RATS HI (Used only military action)
C. ardaT, gAfa 3R gor gAer &1 g foRar (Used a combination of negotiation,

agreement, and force)

D. 38 9fehar & enfAe g & (Was not involved in the process)
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12. AR & R & o & AT Hia-3dY WA A9 75 24
What strategy was used for Manipur’s merger into India?
A. STTHT TIE (Referendum)

B. 2Igl 3TCr (Instrument of Accession)
C. =T gE&I&T (Military intervention)

D. §H¢ H Y&ATd 9Tk fohdT I1AT (Passed a resolution in Parliament)

13. T & YoAdToal & AR fohel AT I Thichd X HES Ao S=A1dT a7 AUT?
During the reorganization of states, which regions were merged to form Bombay State?
A. TTRTd 3R #AGRISE (Gujarat and Maharashtra)

B. Felee 3R 3MY geer (Karnataka and Andhra Pradesh)
C. dm(ﬂo-llgs 3R &TeT (Tamil Nadu and Kerala)
D. 9olie 3R gRAOT (Punjab and Haryana)
14. 91X & TQeTSioT o GRIeT SISl T PlT-AT 1T ATREATT H AMTFST I

Which part of Bengal became a part of Pakistan during Partition?
A. 9T §9MeT (West Bengal)

B. lTlt\'cw STl (East Bengal)
C. F{Uﬁ' §9Ter (Entire Bengal)
D. PS5 Y &l (None of these)
15. 1956 7 Tl & Yeldloel T HET 36T F4T U

What was the primary objective of the States Reorganisation in 1956?
A. TSTAIfde [EAXAT dATT T@AT (To maintain political stability)

B. 31fd& faehra &r §erar ST (To promote economic growth)

C. {9 3R WX =T &l l:I,’u-ldcloa-i il (To reorganize states on linguistic basis)

D. g TIHR r AfFd FGIT (To increase central government’s power)

f713aa ST F97(0ne word/definite answer questions) (01 Mark)
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1. #RA H TAIAT & F6 foheell 7T AT Sl THAT AT TST?
How many major challenges did India face after independence?
2. AT ISg & fAAOT A FEd T2 A el 4 A
What was the biggest political challenge in nation-building?
3. 3T FAEAT FARTT e & fIT 0RA A Sler-ar 3w Alsel 3=

Which economic model did India adopt to ensure economic equality?

4. FEAFAT & 91G AR & dlehdiaeh | I FTAMIT Sl & [0 Tod Ageaqul
AT AT1?

What was the most important task for establishing India's democratic framework after
independence?

5. AR faemsieT fohm a¥ & ga3m am
In which year did the partition of India take place?
6. HRA-UTeh AT T Had [AATBRT ToITa 1 AUT?
What was the most devastating impact of the India-Pakistan partition?
7. TaweT & i veiRe ffar &7 aed #fUs gafad 817 Sl a1 ar
Which region was most affected by communal violence during partition?
8. TasIStel o cRIT AT &9 & fohel &) ennffieh THEAT T Tellel AT TSI?
Which two religious communities primarily had to migrate during partition?
9. HRA # T fohcelr M RIrad ot fSee v fovar amam
How many princely states were integrated into India?
10. RErEdt & Teheor A fha g &N o Ageaqon fAer fAars?
Which Union Minister played a crucial role in the integration of princely states?
11. ¥R R o R & $Rd A A & Qv g fHfd &1 arers fmam
Which policy was followed by the Indian government to merge princely states into India?
12. fohE T I F gaNT gerale A1 Ao R & gam
Which military operation was used to integrate Hyderabad into India?
13. AR 1 7RG & e fohw a¥ # gam am
In which year was Manipur merged into India?
14. [T ToaTasT 3MTAET T o1 v I8 H g3 am
In which year was the States Reorganisation Commission formed?
15. oy YeAdTeel 3ANT & 3egel @l a2
Who was the chairman of the States Reorganisation Commission?
16. AT & YoTdToal I GHE TR FIT AU

What was the primary basis for the reorganisation of states?
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17. ARA T gl HV-3MIRT TSI HIA-A1 §1?
Which was the first language-based state of India?

18. 1956$m$gmﬁmafﬁﬁwa?amwﬁmﬁmwm?

How many states were created in India under the States Reorganisation Act of 1956?

3T org FarviT g¥7 (Very Short answer questions) (02 Marks)

—

AT HRA & GHET el T etfadr Far A favawor Y|
What were the three major challenges faced by independent India? Analyze.

2. HRA H Fehdd I AT A o ToIv Ffaenes [HaATanst o o feg qaegnsit o

HIHAT nldd] ‘-lSIfJ-I‘\(*%IiGho'I Cog

What were the major challenges faced by the constitution-makers in strengthening democracy
in India? Evaluate.

3. 9Rd # 3Meh g T FuIs T § o] A & TIU THR G@RT AT T TG
FEHT I fILATOT FY|
Analyze the major steps taken by the government to implement economic development
smoothly in India.

4. TGAFT WIS o STE R I Teh ASE & §I H Teblhel el A fohel TATATIN T

HTHGAT heAT YST?

What challenges did India face in integrating itself as a nation after independence?

TG AR & WIHA oleiliceh [EUXAT T &1 YAlfadl &2 Teh 3UPeFd 30T S
HS |
What were the challenges of political stability in independent India? Explain with a relevant
example.

6. IR TAHTSIT & FROT §U TAEATA & ATAISrh AR HTMAH FaTal &1 Fodiehed
Evaluate the social and economic impact of displacement caused by Partition.

7. ARA-TTfhEdleT TSIl & aRIeT AveR¥s fFar & & wog@ wsrat & faRelyor |
Analyze two major impacts of communal violence during the India-Pakistan Partition.

8. faTSTT & 3cUest AAAIRAIFR e &I ATEAT Y|
Explain the humanitarian crisis caused by Partition.

9.wmﬁmﬁﬂmﬁmmmﬂﬁa§éﬁaﬁ?mwél

Did the events of Partition influence communal politics in India? Justify your answer.

9]
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10. RATAAl & ThHIROT ST TATAT FAT A2 TS HRONT FHT AATOT A |
What was the problem of princely states’ integration? Analyze its causes.

11. RT TR & NI & TROT & fIT Rled-& 5@ efSeahlor 39e1e? Hedichs
H|

What were the major approaches adopted by the Indian government for princely states'
integration? Evaluate.

12. BeeTe & HRA # e 1 97@ Flfaal 3R THR caRT 3901 a7 0T 6
SATEAT |

Explain the major challenges and the strategy adopted by the government for Hyderabad’s
integration into India.

13. AR & R A o & gfshar &1 faeeyor |

Analyze the process of Manipur’s merger with India.

14. GIER U 1 HRA & ThHIHUT T JHE dEdhR FaT Fgl Sl §? e dfed 3
al
Why is Sardar Patel called the chief architect of India’s integration? Justify your answer.

15. 70 YeAdlaeT 3MAET (1953) hr TAMGAT & NS GH@ HROT F47 A? fagelvor 3|

What were the major reasons behind the establishment of the States Reorganization
Commission (1953)? Analyze.

16. §IT9T & 3TUR R Tl & Yoldload & ARG Tofailid I FAT JHIG TST? Hediche
|
What was the impact of linguistic reorganization of states on Indian politics? Evaluate.

17. 314 92 & fA#ATOT iy gfthar 9Ra # To goeied & fav &8 Wuners §e i
How did the creation of Andhra Pradesh inspire the reorganization of states in India?

18. T T T Yool R i TS Tehdl & ToIU SleTeTaeh AT? HROT Higd 3T
al
Was the reorganization of states beneficial for India’s national unity? Justify your answer.

19. T $TNT & 3R W AT HT AHATOT &= 3= I Ferdl 1 §? 39 dh
T A

Does the formation of states on a linguistic basis promote regional imbalance? Present your

arguments.

oTg Fci¥lT F¥7 (Short answer questions) (03 Marks)
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1. TIAFT It & §Te R & GHET oiiel 9@ atfaal a1 ¥i? 3 YAl &l TR o Ha
gaifera feam

What were the three major challenges India faced after independence? How did the government
address these challenges?

2. Fhdd T TUTTAT HRA & AT vh 2 gAlT M| 37 el Al PR Fd A TWHR A
T TOTfaT i

Establishing democracy was a major challenge for India. What strategies did the government adopt
to overcome this challenge?

3. R & 3T fqpd o AR el & foIT AT s H PR SaRT TS 15
AT & Hedihel HITIT|

Evaluate the policies adopted by the government in the initial years to ensure India's economic
development.

4. 9RT H TSET Tohdl TAIU IWAT Teh Hided HY ATl TH FGH H WHR EaRT 33TT T FHGHI

&1 faaer SifaT|

Maintaining national unity was a challenging task in India. Discuss the steps taken by the
government in this regard.

5.5 FGAT AR H YA TEAT I Aol el & [T SR g@nT fohv a0 gt &
[EECENIETIE Y

Analyze the efforts made by the government to strengthen the administrative structure in newly
independent India.

6. 3R IS & FIT FoE@ AT AR 3 aRom g0 fawqd 3@ QS

What were the major social and economic consequences of India's partition? Explain in detail.

7. TS & QR 93 YA WA g3 WHR o AeAfod et & gAat & faw
hcH 3orU?

There was massive displacement during the partition. What steps did the government take to
rehabilitate the displaced people?

8. ARAUIREdTT fA-3TaeT ¥ 3ol VSIS AT T THIT ARG AT 9T AT 927

How did the communal violence resulting from the India-Pakistan partition impact Indian society?

9. QIS & TFET AR F AT T T FfSASAT T FTHAT FIAT Y31 37 TGl H 3%
3e13ral @ faRelvor ffSv)

Women faced unique challenges during the partition. Analyze their experiences in this context.
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10. TAsITSTeT & ERTeT WATHT & el 3 FURY T JTETTverT 3R ARG & Hegl o & -

ATATT 3cosT chi?

What problems arose due to the exchange of property and citizenship issues during the partition?

11. TadT ART H NIt & Thaor ff gaear a1 A, 3R sqar garensT Fa fhar an

What was the problem of integrating princely states in independent India, and how was it resolved?

12. R TR o RAEAr & 9o & TIU a7 ¢iShlvT TN FIER Yol i ffaenr
Hodiehel ST

What approach did the Indian government adopt for the merger of princely states? Evaluate the role
of Sardar Patel.

13. gexreTe RAAT & TRROT A el GHq@ FAlTAAT T FTHAT HIAT ST, AR SHHT FHATTT
S FIM
What were the major challenges in the integration of Hyderabad, and how were they addressed?

14. AR RIrad & #Rd & fderg & gfshar 1 fadaar fRfSw| #41 Ig 37 Raradt d 3reeT
o

Discuss the process of Manipur’s merger into India. Was it different from other princely states?

15. Ife RIraal 1 THEoT G 61 aidl, df ARG T 3WEsdT W FAT THIT ISan?

If the integration of princely states had not been successful, what impact would it have had on
India’s unity?

16. FIAF & §1G HRA # TAT & GoTdloeT T HTaeTehdl AT TSI SHRT 4T THIT IST?

Why was the reorganization of states necessary after independence? What impact did it have?

17. 97187 & 3MUR W AT & YeidosT T Al F1 380 FAT Ig ARG Tohel & v gy o
AT?

Why was there a demand for reorganization of states on a linguistic basis? Was it the right decision

for India's unity?

18. T2t & YeTdTaat i Uishar & fohel 9H@ Tsfeilicies AR ATATISTR YA &I HHAT AT
g

What were the major political and social challenges faced during the process of reorganization of
states?

19757 Yeidiael AT T RAwRel 1 favawor Hifsre| s veag el @4 i

Analyze the recommendations of the States Reorganization Commission. What were its key
recommendations?

20. 3¢ [T T oAoToT LT §IHT G, A AR T ATl fcih [EURAT TR SHRT FAT T I5T?

If the reorganization of states had not taken place, what impact would it have had on India’s

political stability?
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10.

g1 Tl 97 (Long answer questions) (05Marks)

HRA & HHAS FaIal & oG diel Y@ Ieltiaal 41 di? 3o [&aifies qgef3it &r
faeawur fifaw|

What were the three major challenges faced by India after independence? Analyze their various
aspects.

%ma%ahag@ﬁxm%qg@mﬁmaﬂ?aﬁmqmaﬁmﬁl

Explain the major social and economic impacts of displacement during Partition.

IfE 3T AR & Ugel JUHHA g, af FAG9TST I T AT T HHA HA &
T 319 FI1 IOENTT 3TATA?

If you were India’s first Prime Minister, what strategy would you adopt to tackle the challenges
of the newly formed nation?

T 3T AT ¢ fob HRA T eliepcliiaen el ATl & aie 8 Aoqd &= 12
dhHITd 3T I

Do you think India's democratic structure remained strong despite Partition? Justify your

answer.
T TSIl T STl ST Fehcl UT?3H R 9 IR T |
Could Partition have been avoided? Present your views.

RIedt & #Rd & o 1 9ishar & @@ 81 gAldr F1 4 faegd fagawor i

What was the biggest challenge in the process of merging princely states into India? Provide a
detailed analysis.

WHR o geETe & AR & Fog & v Fla-wla @ w7 3o sq @Avg &

RUCEGIRIECEIETY

What steps did the government take to integrate Hyderabad into India? Discuss the rationale
behind this decision.

AR &1 R # faery 3w RIradt @ Fa Beer 2ar2 faagor 2

How was the process of Manipur’s integration into India different from other princely states?
Provide details.

faffieet Tt & geteloet 1 MUR FAT U7 471 39 3q Toh FeI A0 AT g2
What were the bases for the reorganization of states? Do you consider it a justified decision?

Ife Berere 3R AT #Ra & arffier 71ET 81, Al ¥R WX S8 41 THIE ISl

If Hyderabad and Manipur had not joined India, what could have been the consequences for
India?
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1. &1 T l:l)c‘ldcloo-l T gfrar F ARG A T JITATAAT T FeraT &A1 379 3T Sl
faaaer |
Did the process of state reorganization promote regional disparities in India? Discuss your
answer.

12. IfE 39 To YoAdloal AN & T gid, dl T AT deelld FEAad Hd?

If you were a member of the State Reorganization Commission, what changes would you
propose?

13. TRER Y& T $fAHT AR & ThhoT H fohelell Hgeaqor A ash |ied 3R <
How significant was Sardar Patel’s role in the integration of India? Justify your answer.
14. R & Ugel 3MH FoAtal I [AHTT & HesT 7 @ <@r S Fehell 87

How can India’s first general elections be viewed in the context of Partition?

15. IfE aAAT H Aol & YoAdidal Sl Gishar elaRT i ST, dl 37 deord g
giar?

If the state reorganization process were to be conducted again today, what changes would be

necessary?

16. AT AT FT ‘:I)o'ldcloo-l &I Thdl &I FeIdT ol & I 37T el AT? deh Tfgd
IR S|
Was the reorganization of states the best way to promote regional unity? Justify your argument.

17. 3R RIrgal o 9Rg & Pes & T 341 &1 399 A8 Far Jarn, ar =24
gRome gia?

If the military had not been used to integrate princely states, what could have been the

consequences?
18. 1956 % I Yeidiaet JifAfAaad & a1 yog@ gerra &2 faeqe faRelvor g&dd |

What were the major impacts of the State Reorganization Act of 1956? Provide a detailed
analysis.

19. IfE TAAT FAG H Ao YoAdTee S qfohar i ¢ X & fhar e, ar fover ae
PR Pl €IT H QT JATAT ATRT?

If the state reorganization process were to be carried out afresh in the present time, what new
factors should be considered?
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Case Study Based Questions

Case Study 1:

R B FAAA & d1G, AT TS B AT THE GATHIT FT FHA FAT IS T
el TSTelifcieh Tehell AR WS ST W= Y| fasTeiel & T Hiverds fEar #ss
38T, T8 AR & A A TAMAT HA H oAl 3cTee1 §51 gA@ Il Th
ANhcIFh cTIEAT H TG AT AT dlfh ool A WHR A efied Aer ah| Aoy
991 el FATiolh AR 3 fdehrd 7| Teh SAdlid USg & & H, HRA HT N,
RIS 3R 3eINaoT hr GHEATHT AT ATHAT HLT 37|

After gaining independence, the new nation faced three major challenges. The first challenge was
maintaining political unity and integrity. Communal violence erupted after Partition, posing a
serious challenge to the government in restoring peace. The second challenge was strengthening a
democratic system to ensure people’s participation in governance. The third major challenge was
social and economic development. As a newly formed nation, India had to deal with poverty,
unemployment, and the need for industrialization.

Questions:
1. ¥R &I ggoll 3T g&@ gqga‘q;u‘r ﬂﬁ?ﬁ T A1 (What was India's first and most

important challenge?) (1 mark)
2. HRA o dlhdd A hd d<e fRaT? (How did India strengthen democracy?) (1 mark)

3. 37 A & foIT ARa Fr Thed THEIT3T T AIHAT AT IS1? (What problems
did India face for economic development?) (1 mark)
4. 3o Al GANTET &1 HHAT A & TIT THR GaRT 36T T JHE HeAl 9T el

&L (Discuss the major steps taken by the government to address these three challenges.) (2

marks)

Case Study 2:
R AR Tfhed= & s & SR @t @ e gul arfdis 3o «

forsT o aueRe AT & S far, fSad §9IRT ofeT AR I10| ST ofieT 39ed &R_7
OISR AT USel # Tl 1, 3eg YA I R FHEIT HT WHAT HAT IST| HRA
WHER o WoNPAr & fov Jead AR vafta e, afea @iffg dae=t & sRor
JeTdTd Ueh hidel Hd ATl fqeelel & Aol AR 31w voa ofd qHT doh HAged
frw arv

During the partition of India and Pakistan, millions were displaced. The religious division led to
communal violence, resulting in thousands of deaths. Those who migrated faced severe
rehabilitation challenges. The Indian government set up refugee camps, but limited resources made
rehabilitation difficult. The social and economic consequences of Partition were felt for a long time.
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Questions:

1. Fae & el HET &Y T PloT-HT GATAT 3cTood g_f"?'? (What was the primary issue
during Partition?) (1 mark)

2. ART @R o farafdat & W & forT &1 3urT fhw? (What measures did the
Indian government take for the rehabilitation of displaced people?) (1 mark)

3. T39I &1 Sreieifoles TITd &A1 I@T? (What was the long-term impact of Partition?) (1
mark)

4. HRA H AYeAS HIge T 3@ & [T TSR o FAT FeH 3?2 (What steps did

the government take to maintain communal harmony in India?) (2 marks)

Case Study 3:
TAAFAdT & AT, AR H 500 & 3™ Rarad A s RIm@aar & aRa & Fere $r
Al TER Teeldrsls geel 3R . O Al o I Fealfdsh R @ gl H| T

Raradt @ R & faerg & R X f&2n, o ad gediere 3R AR @ ¥ WaR
o 9o 3R TAG gt T 39T FX 5 Aol I ARG & FieAfod fhar| I8 AR &
TSaifdeh TehlanuT FT f&em & e Ufagii@s e 2Tl

At the time of independence, India had over 500 princely states. The challenge of integrating these
states was tackled by Sardar Vallabhbhai Patel and V.P. Menon using diplomatic skills. Some
states, such as Hyderabad and Manipur, refused to join India. The government used both force and
dialogue to bring these states into the Indian Union. This was a historic step toward the political
unification of India.

Questions:

1. RImaar & vt # qHET EIQFﬁFﬁ' T A2 (What was the main challenge in integrating
princely states?) (1 mark)

2. WER 9o o Tohed dlinl & RIATAT T ARG A ST AT (How did Sardar Patel
integrate princely states into India?) (1 mark)

3. BeXEIG & URA # 9o & fov foha Aifa &1 399eT Rar 112 (What policy was
used for Hyderabad'’s integration into India?) (1 mark)

4. RImadr & THERoT ST ARG TSTiid W FIT TG UST? (What impact did the

integration of princely states have on Indian politics?) (2 marks)

Case Study 4:

TIATT & o6, HRA H WIS IR W ATl & YeTdosT HhT HGT 38| 1953 7 30eT Fer
% IS & G, WHR o Tod Yeldload AT i TS Thar| 3mAler &1 AwiRed &
IMUR 9T 1956 F TsAT & Yeldios IfAfags o fhar amm| I8 gefeies weidfis
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gfaem 3R Arehias UHEAAT P LA H WA §U FRar a1 38 TSI Thl
AT Al

After independence, there was a demand for the reorganization of states on a linguistic basis.
Following the creation of Andhra Pradesh in 1953, the government set up the State Reorganization
Commission. Based on its recommendations, the States Reorganization Act was passed in 1956.

This reorganization was carried out for administrative efficiency and cultural uniformity. It
strengthened national unity.

Questions:

1. =gt & l:laa-lchOo-l I 3TAIhdT FAT USI? (Why was the reorganization of states
necessary?) (1 mark)

2. $Rd HUgeTl 34T5|'I':§' AT HIA-AT SA1? (Which was the first linguistic state in India?) (1
mark)

3. UsAl & l:laa-lchOo-l 3TINET hr HEI AW a1 A (What was the main recommendation
of the State Reorganization Commission?) (1 mark)

4. USE & YANSH ¥ HRA T YA cqaedqT G &1 GG 9ST? (What impact did
the reorganization of states have on India’s administrative system?) (2 marks)

Case Study 5:

ARA 3R wfreda & [arssr & @t e o ganfad mar) ar@h e 39er gufaat
F BISFL Tl HA B AR gul Averae @ar 3R gcansit o e #r Il
AARS R AR mard Ul faeres @ 9k 3R wifhedrer & e TRl geas
F Sed A, FEw gl qul & ST FF ey gUI SHK IHewaT, Al G H I
ATST AR 3rdegaear & qAfAATOT T FAldl T FHAT HLAT I3T|

The partition of India and Pakistan affected millions. Many people were forced to leave their
properties and migrate. Communal violence and killings caused deep psychological and physical
trauma. Partition led to a permanent rivalry between India and Pakistan, resulting in multiple wars.
Additionally, both nations faced challenges in rebuilding their societies and economies.
Questions:

1. T3S & SROT fohdel e faeenfia g‘("‘? (How many people were displaced due to

Partition?) (1 mark)
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2. TAHTSTeT &1 T IR ATATTSIR THTT FAT AT? (What was the most serious social impact
of Partition?) (1 mark)
3. AR IR difhedsT & s TRl g‘\"ﬂ?ﬁ FAT qA? (Why did a permanent rivalry

develop between India and Pakistan?) (1 mark)
4. TAHTSA & S ARG Fr FATTEAT G FAT YA YS1? (What impact did Partition have
on India’s economy?) (2 marks)

18| Page



